Encyclopedia of Knitting

BEADED KNITTED SCARF

Corrected instructions for page 99
Design by Jane Davis
Skill level: Intermediate
Finished project size: 8" x 52", excluding fringe

INSTRUCTIONS

FIRST END - CENTER
Cast on 48 stitches.

Row 1 (RS): (K1, pl) across.
Row 2: (P1, k1) across.

Continue to work in seed stitch until Center measures 17 '/, "/ 44.5 cm; ending by
working Row 2. Attach skein strung with beads.

BEAD ROWS

Row 1: (0) K3 tbl, (pl, k1) across to last 3 sts, k3 tbl.

Row 2: (4) P1, PB2, p2, k1, (pl, k1) across to last 6 sts, p3, PB2, p1.

Row 3: (4) K2 tbl, KB2, k2 tbl, (k1, pl) across to last 6 sts, k2 tbl, KB2, k2 tbl.

Row 4: (4) P3, PB2, p2, k1, (pl, k1) across to last 8 sts, p3, PB2, p3.

Row 5: (4) K4 tbl, KB2, k2 tbl, (k1, pl) across to last 8 sts, k2 tbl, KB2, k4 tbl.

Row 6: (4) PS5, PB2, p2, k1, (pl, k1) across to last 10 sts, p3, PB2, p5.

Row 7: (4) K6 tbl, KB2, k2 tbl, (k1, p1) across to last 10 sts, k2 tbl, KB2, k6 tbl.

Row 8: (4) P7, PB2, p2, k1, (p1, k1) across to last 12 sts, p3, PB2, p7.

Row 9: (4) K8 tbl, KB2, k2 tbl, (k1, p1) across to last 12 sts, k2 tbl, KB2, k8 tbl.

Row 10: (4) P9, PB2, p2, k1, (pl, k1) across to last 14 sts, p3, PB2, p9.

Row 11: (4) K 10 tbl, KB2, k2 tbl, (k1, pl) across to last 14 sts, k2 tbl, KB2, k 10 tbl.
Row 12: (8) PS5, PB2, p4, PB2, p2, k1, (pl1, k1) across to last 16 sts, p3, PB2, p4, PB2,
pS.

Row 13: (14) K4 tbl, KBS, k3 tbl, KB2, k2 tbl, (k1, p1) 8 times, k2 tbl, KB2, k4 tbl,
KB5, k3 tbl.

Row 14: (16) P3, PB6, p4, PB2, p2, k1, (pl, k1) 6 times, p3, PB2, p4, PB6, p3.

Row 15: (18) K3 tbl, KB7, k4 tbl, KB2, k2 tbl, (k1, p1) 6 times, k2 tbl, KB2, k5 tbl,
KB7, k2 tbl.

Row 16: (14) P2, PB4, p3, PB1, p5, PB2, p2, k1, (p1, k1) 4 times, p3, PB2, p5, PBI, p3,
PB4, p2.

Row 17: (12) K3 tbl, KB4, k9 tbl, KB2, k2 tbl, (k1, p1) 4 times, k2 tbl, KB2, k 10 tbl,
KB4, k2 tbl.

Row 18: (12) P2, PB4, p 11, PB2, p2, k1, (p1, k1) twice, p3, PB2, p 11, PB4, p2.
Row 19: (18) K3 tbl, KB4, k5 tbl, KB3, k3 tbl, KB2, k2 tbl, (k1, pl) twice, k2 tbl, KB2,
k4 tbl, KB3, k5 tbl, KB4, k2 tbl.



Row 20: (18) P3, PB3, p5, PB4, p4, PB2, p2, k1, p3, PB2, p4, PB4, p5, PB3, p3.

Row 21: (22) K4 tbl, KB4, k3 tbl, KBS, (k4 tbl, KB2) twice, k5 tbl, KBS, k3 tbl, KB4,
k3 tbl.

Row 22: (16) P4, PB4, p3, PB2, p8, PB2, p2, PB2, p8, PB2, p3, PB4, p4.

Row 23: (18) K6 tbl, KB7, k9 tbl, KB4, k 10 tbl, KB7, k5 tbl.

Row 24: (20) P7, PB6, p4, PB3, p3, PB2, p3, PB3, p4, PB6, p7.

Row 25: (16) K 10 tbl, KB4, k3 tbl, KB4, k7 tbl, KB4, k3 tbl, KB4, k9 tbl.

Row 26: (30) PS5, PB 10, pl, PBS5, p6, PB5, pl, PB 10, p5.

Row 27: (20) K5 tbl, KB6, k3 tbl, KB2, k1 tbl, KB2, k 11 tbl, KB2, k1 tbl, KB2, k3 tbl,
KB6, k4 tbl.

Row 28: (16) P4, PB4, p6, PB4, p 12, PB4, p6, PB4, p4.

Row 29: (14) K4 tbl, KB4, k8 tbl, KB3, k 11 tbl, KB3, k8 tbl, KB4, k3 tbl.

Row 30: (14) P4, PB4, p8, PB3, p10, PB3, p8, PB4, p4.

Row 31: (14) K4 tbl, KBS, k9 tbl, (KB2, k9 tbl) twice, KBS, k3 tbl.

Row 32: (20) P4, PB6, pl, PB3, p4, PB1, p 10, PB1, p4, PB3, p1, PB6, p4.

Row 33: (22) K5 tbl, KBS, k1 tbl, KBS, k3 tbl, KB1, k9 tbl, KB1, k3 tbl, KBS, k1 tbl,
KBS, k4 tbl.

Row 34: (26) P1, PB2, p2, PB4, pl, PB6, p3, PBI, p&, PB1, p3, PB6, pl, PB4, p2, PB2,
pl.

Row 35: (15) K2 tbl, KB2, k7 tbl, KB2, k3 tbl, KB2, k2 tbl, KB1, (k3 tbl, KB1) twice,
k2 tbl, KB2, k3 tbl, KB2, k6 tbl, KB2, k2 tbl.

Row 36: (14) Sl 1, pl1, psso, pl, (PB2, p5) twice, (PB1, p2) twice, PB2, (p2, PB1)
twice,( pS, PB2) twice, pl, p2 tog—46 sts.

Row 37: (9) S11, k1 tbl, psso, k1 tbl, KB2, k5 tbl, KB1, k 11 tbl, KB3, k 11 tbl, KB1, k4
tbl, KB2, k1 tbl, k2 tog tbl—44 sts.

Row 38: (10) SI 1, pl, psso, pl, PB2, p4, PB1, p 10, PB4, p 10, PB1, p4, PB2, p1,

p2 tog—42 sts.

Row 39: (15) S1 1, k1 tbl, psso, k1 tbl, KB2, k10 tbl, KB3, k1 tbl, KBS, k1 tbl, KB3,

k9 tbl, KB2, k1 tbl, k2 tog tbl—40 sts.

Row 40: (16) SI 1, pl, psso, pl, PB2, p§, PB4, (pl, PB4) twice, p§, PB2, p1, p2 tog—
38 sts.

Row 41: (17) S1 1, k1 tbl, psso, k1 tbl, KB2, k7 tbl, KBS, k1 tbl, KB3, k1 tbl, KBS, k6
tbl, KB2, k1 tbl, k2 tog tbl—36 sts.

Row 42: (12) SI 1, pl, psso, pl, PB2, p6, PB2, p2, PB1, pl, PB2, p1, PBI, p2, PB2, p6,
PB2, pl, p2 tog—34 sts.

Row 43: (11) SI 1, k1 tbl, psso, k1 tbl, KB2, k6 tbl, KB2, k2 tbl, (KB1, k1 tbl) twice,
KBI1, k2 tbl, KB2, k5 tbl, KB2, k1 tbl, k2 tog tbl—32 sts.

Row 44: (8) Sl 1, pl, psso, pl, PB2, p9, PB4, p9, PB2, p1, p2 tog—30 sts.

Row 45: (6) S11, k1l tbl, psso, k1 tbl, KB2, k9 tbl, KB3, k8 tbl, KB2, k1 tbl, k2 tog tbl—
28 sts.

Row 46: (6) Sl 1, pl, psso, pl, PB2, (p8, PB2) twice, pl, p2 tog—26 sts.

Row 47: (9) SI1, k1 tbl, psso, k1 tbl, KB2, k5 tbl, KB1, k1 tbl, KB3, k1 tbl, KB1, k4 tbl,
KB2, k1 tbl, k2 tog tbl—24 sts.

Row 48: (10) S11, pl, psso, pl, PB2, p4, PB6, p4, PB2, pl, p2 tog—22 sts.



Row 49: (5) S11, k1 tbl, psso, k1 tbl, KB2, k6 tbl, KB1, k5 tbl, KB2, k1 tbl, k2 tog tbl—
20 sts.

Row 50: (6) S11, pl, psso, pl, PB2, (p4, PB2) twice, p1, p2 tog—18 sts.

Row 51: (5) SI1, k1 tbl, psso, k1 tbl, KB2, k4 tbl, KB1, k3 tbl, KB2, k1 tbl, k2 tog tbl—
16 sts.

Row 52: (4) Sl 1, pl, psso, pl, PB2, p6, PB2, pl, p2 tog—14 sts.

Row 53: (4) S11, k1 tbl, psso, k1 tbl, KB2, k4 tbl, KB2, k1 tbl, k2 tog tbl—12 sts.

Row 54: (4) SI 1, pl, psso, pl, PB2, p2, PB2, p1, p2 tog—10 sts.

Row 55: (4) Sl 1, k1 tbl, psso, k1 tbl, KB4, k1 tbl, k2 tog tbl—S8 sts.

Row 56: (2) Sl 1, pl, psso, pl, PB2, pl, p2 tog—=6 sts.

Row 57: (0) SI 1, k1 tbl, psso, k2 tbl, k2 tog tbl—4 sts.

Row 58: (0) SI 1, p1, psso, p2 tog—2 sts.

Row 59: (0) K2 tog tbl.

Fashion off.



